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Passage for Questions. (1-5)

Artificial intelligence is increasingly influencing the opinions and behavior of people in
everyday life. However, the over-representation of men in the design of these technologies
could quietly undo decades of advances in gender equality. Over centuries, humans
developed critical theory to inform decisions and avoid basing them solely on personal
experience. However, machine intelligence learns primarily from observing data that it
is presented with. While a machine’s ability to process large volumes of data may address
this in part, if that data is laden with stereotypical concepts of gender, the resulting
application of the technology will perpetuate this bias. While some recent studies sought
to remove bias from learned algorithms they largely ignore decades of research on how
gender ideology is embedded in language. Awareness of this research and incorporating
it into approaches to machine learning from text would help prevent the generation of
biased algorithms. Leading thinkers in the emerging field addressing bias in artificial
intelligence are also primarily female, suggesting that those who are potentially affected
by bias are more likely to see, understand and attempt to resolve it. Gender balance in
machine learning is therefore crucial to prevent algorithms from perpetuating gender
ideologies that disadvantage women.

1.  Which of the following is the most suitable title for the passage?
A) Gender roles and modern technology
B) Artificial Intelligence and machine learning
C) Gender Bias in artificial intelligence
D) Gender ideology in machine learning

2.  Withreference to the passage, consider the statements below:
i.  Embedded gender ideology in language predispose machine learning to gender bias

ii. The ca;iacity of Artificial intelligence to process immense data helps deal with the
problem of gender bias completely

Which of the statement/s above is/are correct?
A) Onlyi

B) Onlyii

C) Bothiandii

D) Neither i nor ii

3.  Asperthe passage, how can we improve the gender balance in machine learning?

A) By increasing representation of women scientists in development of artificial
intelligence

B) By using large volumes of data set in machine learning
C) By writing more technically sound algorithms

D) By incorporating research on gender biases embedded in language in machine
learning approaches
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4.  Which of the following problem is in the spotlight in the passage?
A) Gender bias in Artificial Intelligence perpetuates gender inequity in society
B) Machine learning algorithms are not based on sound scientific research
C) Under-representation of women lead to gender stereotypes in society
D) Artificial intelligence programs are excessively influencing opinions and behavior
of masses

5. Asper the passage, why the researchers in the upcoming field of gender representation

and artificial intelligence are mostly women?

A) Because women researchers are reclaiming their space in the field of artificial
intelligence

B) Because women have superior verbal intelligence as compared to men

C) Because women are personally impacted by the biases perpetuated by artificial
intelligence

D) Because women are being promoted in the field of STEM (Science, Technology,
Engineering, Mathematics)

Passage for Questions. (6-10)

Probably the most widely held misconception of homeschooling is the myth of
socialization. This myth was born out of a misunderstanding of what homeschooling is
really like and rests on the assumption that school is the only effective means for
socializing children. The mistaken belief is that homeschooled children wake up and
hit the books from 9:00 till 4:00, locked away in their homes with little interaction with
the outside world. They are socially awkward, lack essential social skills, and have
difficulty relating to others in social situations. However, this is simply an outdated
stereotype. Here it is important to understand that the process of socialization usually
occurs in a child’s daily activities as he or she interacts with individuals, the community,
and culture at large. It seems that most homeschool parents are aware of the issue of
socialization and are strongly committed to providing positive socialization opportunities .
for their children. Homeschooled children are involved in numerous activities outside
the home with peers, children of different ages, and adults. More important, the assumption
that traditional schooling offers socialization experiences that homeschooling cannot is
flawed. Schools are not the only place that children can learn these basic life skills.
There are other institutions, groups, and activities outside the home that can provide
students with age-integrated opportunities to gain needed socialization skills. In fact,
home schooled children are more frequently exposed to a wider variety of people and
situations than could be expected in a traditional classroom environment where their
exposure is limited to twenty-five to thirty-five people of similar age and socioeconomic
background. This seems to be an advantage for. homeschoolers. Further, because
homeschooled students are not peer-grouped in school, they learn to get along with a
variety of people, making them socially mature and able to adjust to new situations. It is
also important to understand that a child’s self-concept and the socialization process are
closely related. The majority of studies done on homeschoolers indicate that their
self-concepts are comparable to and usually stronger than that of children in conventional
schools.
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Which of the following is the most suitable title for the passage?

A) Advantages of Homeschooling

B)
C)

D)

A comparison of homeschooling and conventional schools

Schooling, socialization and self-concept
[

Homeschooling and the myth of socialization

7. What do you understand by the phrase “homeschooled children are not peer-grouped
in school”?

A)

B)

C)

D)

Unlike school children, homeschooled children do not go to school and therefore,
don’t interact with their peers

Unlike school children, homeschooled children engage in activities with people
who are more diverse than their peers

Unlike school children, homeschooled children do not get age-integrated
opportunities of learning

Unlike school children, homeschooled children do not have enough opportunities
for socialization with their peers

8. As indicated in the passage, what does research on homeschooling and self-concept
indicate?

A)

B)

C)

D)
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Self-concept of homeschooled children is weaker as compared to children in
conventional schools

Self-concept of homeschooled children is unrelated to their socialization
experiences

Homeschooled children have positive socialization experiences and therefore
have a strong self-concept

Self-concept of homeschooled children is comparable to children in conventional
schools despite low socialization
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10.

11.

Which of the following statements convey the central point of the passage?

A)  The belief that homeschool children do not have enough socialization opportunities
is a myth, rather they have more diverse socialization opportunities

B)  The parents of the homeschooled children should make sure that they provide
ample opportunities for socialization to their children

C) The conventional school setup is essential for fostering healthy socialization
among children and therefore, homeschooled children are at a disadvantage

D) The self-concept is related to socialization and therefore, schools/parents should
promote positive socialization for improving self-concept of children

With reference to the passage, consider the statements below:

1. Homeschooled children are socially awkward, lack essential social skills, and
have difficulty relating to others in social situations

ii.  The conventional schooling offers socialization experiences that homeschooling
cannot

Which of the statement/s above is/are correct?

A) Onlyi B) Onlyii

C) Bothiandii D) Neither i nor ii

Passage for Questions. (11-15)

A much-debated question is whether and how education differs from indoctrination.
Many theorists have assumed that the two are distinct and that indoctrination is
undesirable, but others have argued that there is no difference in principle and that
indoctrination is not intrinsically bad. Theories of indoctrination generally define it in
terms of aim, method, or doctrine. Thus, indoctrination is either: (1) any form of
teaching aimed at getting students to adopt beliefs independent of the evidential support
those beliefs may have (or lack); (2) any form of teaching based on methods that instill
beliefs in students in such a way that they are unwilling or unable to question or
evaluate those beliefs independently; or (3) any form of teaching that causes students
to embrace a specific set of beliefs—e.g., a certain political ideology or a religious
doctrine—without regard for its evidential status. These ways of characterizing
indoctrination emphasize its alleged contrast with critical thinking: the critical thinker
(according to standard accounts) strives to base his beliefs, judgments, and actions on
the competent assessment of relevant reasons and evidence, which is something the
victim of indoctrination tends not to do. But this apparent contrast depends upon the
alleged avoidability of indoctrination, which itself is a philosophically contested issue.

Which of the following is the most suitable title for the passage?
A) Understanding Indoctrination

B) Avoidability of Indoctrination

C) Ciritical thinking and Indoctrination

D) Indoctrination-Is it good or bad?
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12. As indicated in the passage, which of the following statements are FALSE about
indoctrination?

A) Indoctrination does not go well with critical thinking
B) Indoctrination is intrinsically good

C) Embracing a political ideology while disregarding its evidential status is an outcome
of indoctrination

D) Avoidability of indoctrination is a debatable issue

13. Based on the passage, which of the following forms of teaching is most susceptible to

indoctrination?
A) Science B) Political Science
C) Religion D) Moral education

14. Which of the following is a necessity for indoctrination to be successful as per the

passage?
A) Charismatic leadership B) Critical thinking
C) Inability to question D) Persuasive communication

18. With reference to the passage, consider the statements below:

i. A political ideology and a religious doctrine may indoctrinate a person who does
not think critically

ii. ~ Philosophically, escaping indoctrination is impossible
Which of the statement/s above is/are correct?

A) Onlyi B) Onlyii

C) Bothiandii D) Neither i nor ii
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16.

17.

Passage for Questions. (16-20)

A recent international report observed that mental health problems are far more common
in rich nations that are socially unequal and that individual treatment is not the solution.
Although poverty can be a trigger for poor mental health, it is inequality that has the
most profound and far-reaching effect on individuals and the wider society.The report,
carried out by WHO, argues that radical and broad policy changes are needed to
directly counter growing inequality. As per the report, the adverse impact of stress is
greater in societies where greater inequality exists and where some people feel worse
off than others. So, we will have to face up to the fact that individual and collective
mental health and well-being will depend on reducing the gap between rich and
poor.Although physical health outcomes point to a positive impact on mortality rates
as nations become richer, the opposite seems to be true of mental health, where the
level of mental distress among communities needs to be understood less in terms of
individual pathology and more a response to inequalities involving relative deprivation
across society.The report’s author, Lynne Friedli, contends that, to date, there has been
an “undue focus on individual solutions” to mental health issues like depression, when
what is called for is a social solution. She points to cognitive behavior therapy (CBT)
as being the therapy that may work for many individuals, but no amount of CBT can
address society as a whole, where huge inequalities reflect the kind of society we live
in. The pandemic has also revealed that the family and community an individual
resides in also play a role in mental disorders. But the core issue remains an antiquated,
ineffective, and inflexible therapeutic milieu serving the mental health industry at the
expense of practitioners and the public. Without major policy changes that include the
social, cultural, and economic conditions that support family life, the inequalities will
become greater and further undermine mental health.

Which of the following is the most suitable title for the passage?
A) Mental Health Report: Some insights

B) Poverty and Mental Health

C) Mental Health and Well-being

D) Inequality and Mental Health

Which of the following statements convey the key message of the passage?

A) Despite low mortality rate, the rich countries have been affected more by the
mental health concerns

B) Social inequalities undermine mental-health and therefore, the focus of therapy
also should not be just the individual

C) Pandemic has demonstrated that the family and community plays an important
role in promoting mental health

D) Even in rich countries, the mental health is one of the most neglected aspect of
public health
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18.

19.

20.

21.

With reference to the passage, consider the statements below:

i.  Between poverty and inequality, it is inequality that has more decisive negative
influence on mental-health

ii. CBT offers individual solution to mental-health but does not address mental
health at a collective level

Which of the statement/s above is/are correct?

A) Onlyi B) Onlyii

C) Bothiandii D) Neither i nor ii

What do you understand by the phrase “relative deprivation”?
A) Social inequality B) Injustice
C) Downward social comparison D) Poverty

As per the passage, which of the following solution is needed the most for addressing
the rising mental health concerns in rich countries?

A) Individual Solution

B) Collective solution and policy changes

C) Wider access to therapies such as CBT

D) Strategies for reducing the stigma of mental illness

Passage for Questions. (21-25)

Studying how we use and consume media allows us to scrutinize the conflicts,
contradictions, problems, or even positive outcomes in our use of mass communication.
Media-literacy may be defined as our ability to responsibly comprehend, access, and use
mass communication in our personal and professional lives. An insight into of our
consumption of media is vital for understanding its effects on us as members of
society. Being more conscious consumers of media would require us to maintain
cognitive, emotional, aesthetic, and moral awareness as we interact with media. But, how
do we do that? First, given that we live in an era of media saturation, an important skill for
media literacy is to acknowledge just how dominant mass communication is in our lives
and around the globe. Second, we multitask when it comes to mass communication. As
a result, we run the risk of being passive consumers, not really paying attention to or
critically analysing the messages we receive. Therefore, we need to be mindful and pay
attention to the content of mass media. Third, a great deal of mass communication content
is curated to appeal to our specific emotions and therefore, we need to be conscious of
our emotional reactions to the content of media. This understanding will allow us to
think critically about the mass media we consume before we come to conclusions simply
based on our emotional responses. Finally, we should critically consider the source of
all mass communication messages. No matter how credible a media source, we can’t
always believe everything we see or hear because all mass communication is motivated
by political, profit, or personal factors.

Which of the following is the most suitable title for the passage?
A) Surviving media saturation

B) Side effects of media consumption

C) Understanding Mass-media-challenges and way forward

D) Media Literacy
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22.

23.

24.

25.

26.

What do you understand by the phrase “media saturation”?

A) There is a technological saturation in media

B) The content on media is saturated

C) The concentration of images from media around us is very high

D) The consumers are fed up of constant exposure to media

As per the passage, which of the following factor interferes with media literacy?
A) Multi-tasking while consuming the media

B) Focusing on the emotions evoked by the media

C) Critically analyzing the content of the media

D) Understanding the intent behind the media creation

As per the passage, which of the following skill will be useful in enhancing media
literacy?

A) Listening skills B) Critical thinking
C) Empathy D) Creativity

With reference to the passage, consider the statements below:

i.  Being aware of the impact of media in our lives is imperative for our social
existence

ii. There may be ulterior motives to creation of media despite the source being
credible

Which of the statement/s above is/are correct?
A) Onlyi ; B) Onlyii
C) Bothiandii D) Neither i nor ii

Which of the following is not a linear model of communication?
A) Aristotle’s Model of Communication
B) Berlo’s SMCR Model of Communication

C) Schramm’s Model of Communication

D) Lasswell’s Model of Communication
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